
ITEM PART NO DESCRIPTION ITEM PART NO DESCRIPTION

1 SD750.01 CHUCK SCREW 19 SD750.19 SCREW

2 SD750.02 CHUCK 20 B/607ZZ        BEARING 607ZZ BEARING 607ZZ

3 SD750.03 SPINDLE 21 SD750.21 TORSIONAL SPRING

4 SD750.04 WOODRUFF KEY 22 SD750.22 INDUCTOR

5 SD750.05 IMPACT SPRING 23 SD750.23 STATOR FIXED PARTS

6 B/6001ZZ       BEARING 6001ZZ BEARING 6001ZZ 24 SD750.24 STATOR

7 SD750.07 LOCK SPRING 25 SD750.25 SWITCH

8 SD750.08 GEAR 26 SD750.26 CAPACITANCE

9 SD750.09 LOCK SPRING 27 SD750.27 SCREW

10 SD750.10 IMPACT ARM 28 SD750.28 CABLE CLAMP

11 SD750.11 IMPACT PIECE 29 SD750.29 CABLE

12 SD750.12 IMPACT BUTTON 30 SD750.30 CABLE SLEEVE

13 B/608ZZ        BEARING 608ZZBEARING 608ZZ 31 SD750.31 LEFT HOUSING

14 SD750.14 FAN 32 SD750.32 RIGHT HOUSING

15 SD750.15 ROTOR 33 SD750.33 SCREW

16 SD750.16 BRUSH 34 SD750.34 SIDE HANDLE

17 SD750.17 SPRING 35 SD750.35 DEPTH GUAGE

18 SD750.18 CARBON BRUSH HOLDER

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

PARTS FOR :  
ELECTRIC HAMMER DRILL Ø13mm 750W/230V 

MODELS: SD750 

ISSUE NO : 1 

ISSUE DATE : 17/10/2016 


